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IV Semester 3 Yrs. LL.B/VIIl Semester 5 Yrs. B.A.LL.B./B.B.A.LL.B.
Examination, December 2017
CLINICAL COURSE - i ,
Alternate Dispute Resolution Systems (Old Batch)

Duration : 2 Hours Max. Marks : 60

Instructions : 1. Answer Question No. 9 and any five of the reraining.

2. Question No. 9 carries 15 marks and the remaining
questions carry 9 marks each.

. Answers should be written either in English or
Kannada completely.
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. Explain the salient features of the Arbitration and Conciliation
Act, 1996. Marks :

SoIAmO8 Ty HogRs SGROHED, 19968 Ftnd LRI
Q0.

. The role of the conciliator is the key for the success of conciliation —
Comment. Marks :

RogRITTS IR RosT o3 TR0DT &R, QBFRO.

. What is Negotiation ? Bring out the essentials of
Negotiation. Marks :

SROROTRT RoBBER 9 RROGRIT NI INII) DWOD.

. When an application can be made to set aside arbitral.award ? Marks :
m;gxg meaﬁra{i IgTBD oInE RoWPFrEg, s TOBLIRD ?

. What is Mediation ? Explain the qualities of a mediator. Marks :
mqu’émoi Q0BT ? doz;’kzg)mdd noeartdsy D[OR.
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Explain the role of conciliator under the Family Courts
Act, 1984. Marks : 9

Prwons FEIRCHNY SHICHER, 198408008, ROTHSTTT
Y OO, v

Briefly discuss the grounds for challenging the appointment of an
arbitrator. Marks : 9

dx:éﬁomds(arbitrator) Seom oI agg*:oaﬁ BOEIVR), Rodgmon
W0,

What are the advantages and disadvantages of mediation ? Marks : 9
oG RMOFed ORI 0B TRBROITDYD) ?

Solve any two of the following problems : Marks : 71/,x2=15
$9NS oInRYERrde S8R RRRNCT SVUBON
a) The Arbitral Tribunal denied equal opportunity to one of the

parties to arbitral proceedings and later passed an award.
Can this Award be challenged ? Decide.

quomcs 9, 0IRQETTERD, doq&%ﬁ Smvdcd (arbitration
proceedings), 2., FEWTAN RN 9358 J0HTOR DSFTFR
RCARZT. B DITF, FoRwBe 7 DGEFORD.

The Judge of the family Court referred a divorce before
mediation. The proceedings were held before mediation.

But one of the parties wants to settle his case before the
family court. Decide.

ForvowE JUEIPOND msodn(bes& 2WOTH PB &)z{gd?ﬁ
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QFFORD.

An Arbitration Tribunal passes an award and orders o pay
the cost of the arbitration in equal shares. But one of the
parties refuses to pay. Decide.

abq%mbi mﬁcmaifdr@ 0SeTFR, eqRT S03T d..qszlmbé
S ASeIon WORSYTE, STIBRIT, STV ), TEes
=3, 2080 JCHBORITSE. VPFORD.




